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(You may work them out in your head.)

a) 417 - 98

b) 630 +9

C) 77+56-76

d) 50 x 82

e) 13 -17

fy 328+8

g) 6.07 x 100

h) 3°-52

S.A. 28121203

Write down the answers to these questions.

ANSWET: oo 1)
ANSWET: ...ccoveevinceninnnn 1)
ANSWEI. .covvcrvncssssnmmmsssinsinnensncn, 1]
ANSWEI: ccvsssmmssisssasonenmeensensmpsss 1]
ANSWBK sousmimsssssissnmarensmeveyszsy (1]
ANBWEE! cosinsssisisnmammmmemsrensasasese (1]
ANSWET: .....cooiiiiiiieeeeeenee (1]
T (1]



2. Asequence of numbers starts
1 3 6 10 15 21 28 36
a) From the list of numbers above, write down

i) aprime number

ANSWEE. isvsasmsmsamasmsrosess [1]
i) asquare number

ANSWET: ....coeivereensnesssssssarsosassases [1]
iii) a factor of 18

BN seummmmnuemssvevsammsed [1]
iv) the product of 3 and 12

ANSWET: ......comsnssisisiissmaaassssssveres [1]

b) Write down the next two numbers in the sequence.

ANSWETr: .....ccccvveeee. A [2]

3. Fill in the boxes to make these statements true.

o n-rez( ) m
b) 234 + 235 = 236 + @ (1]
c) 6+3XD=27 [1]
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4. Here is a function machine:

Complete the table below.

109 -
(3]
5. Use the factthat 62 x 25 = 1550 to work out

a) 1550 + 25

ANEWON! susssvsssssiissasumsnsssensmsansene 1]
b) 6.2x25

ANSWET: ....oooiiiiiiiiciieeee. 1]
c) 62 x50

BANSWET] ;usicscicssisnemmsusnensansmnnsnes [1]
d) 1550 + 620

oL T — (2]
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6. The points (7, 9), (7, 11) and (3, 11) have been plotted on the centimetre-square grid

below.
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a) Plot the point (3, 7) then join the four points to form a quadrilateral.
Label the shape A. (2]
b) What is the mathematical name of shape A?
ANSWEE: ososmsmnmesmssmasonss [1]
c) Reflect shape A in the dashed line.
Label the new shape B. [2]
d) Translate shape A 3 units left and 4 units down.
Label the new shape C. 2]
e) What is the area of shape A?
ANSWET: ..o, cm® 1]
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7. The graph below shows the total amount of rainfall each month in Dodoma, the
capital of Tanzania.
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a) How much more rain fell in February than in May?
ANSwer: ............eeeeeueeenn... mm  [1]
The year in Dodoma is divided into a dry season and a rainy season.
b) In which month of the year does the rainy season begin?
ANSWET: ..o, [1]

c) Calculate the mean amount of rainfall per month in the first four months of the year.

ANSWEr: ......ccoovveiiiieinaann, mm [3]
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Kilimanjaro is the highest mountain in Africa.
The temperature at the summit at midday was 21°C
At midnight, the temperature at the summit was —8°C

d) What was the difference between the temperature at midday and the temperature
at midnight?

ANSWET: ..ovvveeeeeeeeeeansnnanennnnnns °C [1]

g. Use estimation to match each calculation with the correct approximate answer.

(One has been completed for you.)

approximate

calculation answer
J0.0576 2.45
4.9°:98 2400
0.87 x 28.1 24
7.8 +0.0032 247
19.4 x 12.72 0.24 [2]
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9. Work out

a) 876 x 54
T T
\g
sy B s
T
G
Tt
ANEWEF! swssmssssassmmimmitsomesversuga, 2]
b) 2673 + 11
BIVSWEF sriimsesstessitommmmammmmrssesess [2]
10. a) Round 3049 to the nearest 100
ANSWEr: ..o, (1]
b) Round 87.65 to 1 decimal place.
ANSWET: ... [1]
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4. Which year is written in Roman numerals as MLxv1?
ANSWET: ..ooeveeevrnnransssnsnnsssssnnnnnss [1]

Wwilliam has recently conquered his fear of flying and is going on holiday to Ghana to
celebrate.

a) i) The plane takes off from the UK at 13:35 and lands in Ghana at 20:07

12

How long is the flight?
Give your answer in hours and minutes.

ANSWET: ..o [ min  [2]

i) William’s return flight from Ghana to the UK is delayed.
The plane was due to take off at 23:10 but takes off 57 minutes late.

At what time does the flight take off?

ANSWEL: eeeeeeeeaeaeeneeemnnnnnnaeennes [1]

b) Atthe airport, William buys three large bars of chocolate costing £3.79 each.
He pays with a £20 note.

How much change should he receive?

D-N§ 1oL e o —— [2]
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13. Answer the questions below.
(You may use the rectangles to help you.)

1,1
A 3+
ANSWET: ..o [1]
2_3
b 5~ 10
ANSWET: ..o [2]
9
c) 2x 10
Give your answer as a mixed number.
ANSWEr: ..o [2]
d) How many tenths are there in five wholes?
ANSWET: ... (1]
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: write the following fractions as decimals.
14.

4
a 5
ANSWEN: .....covvevrvvnnnaccrennmnnasasses [1]
1
b) 432
L | A —— [1]
15. Write these lengths in order from smallest to largest.
70mm 0.007km 0.7cm %m
Answer: ............... ) eeneeeeeennnn P — — [3]

16. The shape below is made from 3 identical rectangles.
The height of the shape is 8cm.

not to scale

8cm

Work out the area of the shape.

ANSWET: ..o cm®  [3]

SA. 28121203 L Turn over



17. @) What is the size of each angle in an equilateral triangle?

[+]
ANSWET: .......couecnnnnnnne

[

The shape below is made from an equilateral triangle and an isosceles triangle.

not to scale

b) Work out the sizes of the missing angles a and b

Answer: a =

............................

Answer: b = ..o, (4]
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costs 35 pence for 100 grams.

yS 1.2 kilograms of bird seed.

Bi
aach€| bu
How much does she spend?

18

a)

ANSWET: £ oo [2]

guet palls cost g2 for 8 or £12 for 50

b) Whichis better value?
Circle the correct answer

£2 for 8 suet balls £12 for 50 suet balls

EXPIAIN NOW YOU KNMOW: .ivoniiimimiassesiss s

..................................................................................................................................

Nest boxes originally cost £16.
They are reduced by 20% in a sale.

c) What is the sale price of a nest box?

ANSWET'E wissanessesssumssarssavsssnsss [3]

SA. 2
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19. Here is a formula used in physics:

a) Find p

if

F=48 and A=8

b) Find F if P=9 and A=5

c) Find A

20. How many children would

if

P=15 and F=105

children were born in the same month?

S.A. 28121203

14

T

Answer: P = ... [1]
Answer: F= ..o [2]
Answer: A= ... [2]

there need to be in a class so that at least two of the



s of grain will feed 12 chickens for 4 days.
852
A

How many sacks of grain will be needed to feed 3 chickens for 4 days?

a) i)

ANSWET: eenrrareessnnnnrannaassssesases [1]
i) 8 sacks of grain will feed how many chickens for 12 days?
ANSWET: eeeeerreveeecenmennseesnmmsnsnnsnes [2]
Afamily of foxes gets into @ chicken run.
Counting all of the foxes and all of the chickens there are 11 heads and 30 legs altogether.
b) How many foxes get into the chicken run?
ATISWET consoneesiiinssssiassaammemmeesins [2]
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22. Winston, Leonard and Spencer are each thinking of a different 2-digit number.
a) Three quarters of Winston's number is 27

What is two thirds of Winston's number?
1L RSO — 2]
b) Forty per cent of Leonard’s number is 12
What is seventy per cent of Leonard’s number?

ANSWET: ..o [2]

€) Spencer’s number is one more than a square number and one less than a prime
number.

What number is Spencer thinking of?

....................................

23. The triangle below is drawn on a centimetre-square grid.
Calculate its area.

2
U — ...cm® [3]

(Total: 100 marks)
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